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This puzzle is attractive because there is very little detdahe grid, and because it makes
you think always about two different things, shading in sarels and making a big
single loop which does not cross itself. This loop must passugh all the cells that are
not shaded cells or ‘givens’. The givens (shown in light bigiee a number and indicate

a direction in which you must shade in the given number ok¢shown here as dark blue
cells. These shaded cells may not have horizontal or vésgided neighbours.

Let us look at this example.

First we see some cells where the loop cannot reach, so thestebm shaded in as .
Note that it was not required that an arrow should point taheke cells.

There is a pocket of two cells along the bottom edge which rmcsbmodate the loop, so we can fill in a little here.
Two similar pockets on the left edge and lower right can belanhy filled in. The loop must rise from the lower two
pockets so as to avoid making closed square loops. As therbdft corner is already shaded, the loop must go just
above this cell, as shown B.

Now we look at the fifth column. The given indicating 1 is sfiid, so the loop must go horizontally between the
two givens and join as shown i@. As one of these givens points upwards with a zero, the loogt @igso make a
turn above this given as iG.

There is now no way that the loop can pass through the cell /hdoweolumn 6, and therefore this cell must be
shaded in. This then demands the loop must develops in

The givens indicate that there is one more cell to be shad#ekisixth column, and this cannot be the top cell as the
loop cannot then reach the corner cell. On shading the o#ikthe loop can be developed as showikin

No more cells in the fifth column can be shaded, so the loop doas this column. In the fourth column the
loop must emerge in the third cell down, so the remaining gnaptls in this column both must be shaded, the
top one because the loop cannot get to that cell, and the bdeause of the demand of the giveR.is com-
pleted with the corner turn at the top of column 3, which mdm&nt join across to the top left corner. Four
more cells can be decided f@, avoiding a little unlawful loop, and then there is only onaywto finish, H.

It is difficult to make these puzzles because of the two objest and the fact that it is easy to make puzzles which
are far too difficult to solve with any pleasure. If | take ayelifficult one with a unique solution and try to make it
easier, suddenly it appears with dozens of solutions. kxadigtan acceptable puzzle is achieved, but | need practis
to make them more elegant, no more difficult but with feweegs. This format is ideal for anyone trying to make a
puzzle from scratch. The last few of thex77 puzzles are somewhat more difficult than the norm.

Sometime later The puzzles up to 18 10 are a decent introduction, but now that I've got the kndakaking

these | have added some better, larger puzzles which arelik@tée real thing! These are possibly the most tricky
to make of the puzzles on this web site.
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